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Rifp~ A S =X« L=

TR A K —TRTFHE
M7 B DR v 1L v PR 1 BT T
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F5k B s [=F] — S 1502m
T4 = Hi R 1213m
MEEER FE ZaE [Z5H] 2 289m
AREBTHS— 3 No. SAJ30-GS-50/91
14AH 2K H
A=Ay H— BH — (57 5] =Ry H— MH sl (55 ]
ISR - A - AR H [ZH] ISR - A - AR H [ 5]
ISR - B - 78 (G 2N ISR - B - 72 (h#E& 52=N
ISR - C - AR A 2N iR - C - 4\H {E?‘ﬁ 5Z=N
iR - D - R gy 2N ISR - D - R gy (57 5]
ISR - F - WL B (57 5] ISR - F - WL B 52=N
TR 43(40) 2K — R 9:30 TR %K 45 (42) 22— R 12:30
KA i EH Hard KAge <HY = Medium
2B —K/T 4=y a kiR 2.2°C / 3.5C 2B —K/T 4=y a kiR 8.7°C / 10.2C
F=980
NEAT AF=h -h B 1AH 2KAH & #H L—Xx
No No K% B 4 BB 4 Be M FF R Héf A
1 51 T 17 IR ZIRHES C 1:27.21 1:33.03 3:00.24 0.00
2 52 wH EX A TRIALXFTT 1:36.37 1:39.70 3:16.07 86.07
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 1
50 R 7 B T A —12
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1
DATA PROCESSING by SE I KO TIMING by SE I KO
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155+ PNEILH
NG SR
Tal— T =T —H
iz H B (e [it] ] a—24
DA K [BlfiRa-%
58 1T L (=] A2 — | HiLE 1502m
T 4= a s 1213m
MEEER FE ZaE [Z5H] 2 289m
AREBTHS— 3 No. SAJ30-GS-50/91
1AH 2 K H
aA— ATy H— BH — (57 5] aA— ATy H— MH sl Kkl
ISR - A - BAR H [Z5H] ISR - A - B B [Z5H]
ISR - B - 78 (G 2N ISR - B - 7e (G 5Z=N
ISR - C - AR A (57 5] iR - C - AR B A 52=N
iR - D - iy 2N iR - D - iy 52=N
ISR - F - WL B (57 5] ISR - F - WL B 52=N
TR 43 (40) 22— | HERE 9:30 TR %K 45 (42) A K — | RERE 12:30
KA H i =4 Hard PN <Hb =4 Medium
2B —K/T 4=y a kiR 2.2°C / 3.5C 2B —K/T 4=y a kiR 8.7°C / 10.2C
F=980
NERE Ag=h -h B 1AH 2AKH & #H L—2x
No No K4 B4 Fr B 4 B[ i IS T N NN
1 58 A gl BDIEAF—IFF 1:21.73 1:23.18 2:44.91 0.00
2 53 ILfE %558 7 B T Tz b X 1:26.01 1:30.69 2:56.70 70.06
3 59 W R gl LIFRAXF—r T 1:26.70 1:31.27 2:57.97 77.61
4 56 W H— gl EHKS C 1:36.23 1:39.36 3:15.59 182.32
5 57 IR EfE N s A 2 — T 1:38.31 1:41.86 3:20.17 209.54
6 54 s gl T Ji MEL— T F— A 1:47.63 1:50.77 3:38.40 317.87
7 55 kg =0 = SINFET A 2 — 1:53.75 1:50.68 3:44.43 353.71
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



#1120

Rifp~ A S =X« L=

TR A K —TRTFHE
ez B Ve o (L o7 PR HIT T

101X 5+ PNEILH
NG SR
Tal— T =T —H
iz H B (e [it] ] a—24
DA K [BlfiRa-%
F5k B s [=F] — S 1502m
T 4= a s 1213m
MEEER FE ZaE [Z5H] 2 289m
AREBTHS— 3 No. SAJ30-GS-50/91
1AH 2 K H
aA— ATy H— BH — 52=N =Ry H— M 5L Kkl
ISR - A - BAR H [Z5H] ISR - A - B B [Z5H]
ISR - B - 78 (G 2N ISR - B - 7e (G 5Z=N
ISR - C - Ak A (57 5] iR - C - AR B A 52=N
iR - D - R gy 2N iR - D - SRpi (57 5]
ISR - F - W B (57 5] ISR - F - W B 52=N
TP % 43 (40) 2K — R 9:30 A% 45 (42) A — R 12:30
KA L =E Hard PNIZ3 <H Y EEZy Medium
2B —K/T 4=y a R 2.2°C / 3.5C 2B —K/T 4=y a kiR 8.7°C / 10.2C
F=980
NEAE Ag=} -h 1AH 2ARH & #H L—Xx
No No K4 B 4 BB 4 BE M FF R Héf A
1 66 RHE % XN NaES C 1:19.24 1:20.92 2:40.16 0.00
2 61 =% {7 AN LiFhAXx—rT7 1:21.11 1:22.67 2:43.78 22.15
3 67 I N THIL =T AX—RC 1:21.76 1:22.86 2:44.62 27.29
4 60 IR R— A 1:27.94 1:28.48 2:56.42 99.49
5 64 ®’ii EA = WL — 7S C 1:29.12 1:31.82 3:00.94 127.15
6 65 TPl FETR N BT A X —Hhe 1:33.35 1:32.84 3:06.19 159.27
762 [EF=a 5N XN 1:31.68 1:34.96 3:06.64 162.03
8 63 T Rk g BT A X —Hhe 1:36.37 1:36.22 3:12.59 198.44
DID NOT START [1st RUN] 1
68 WA EE 7 B HERSC
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO
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Rifp~ A S =X« L=
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NG SR
Cay— T = HNT—H
iz H B (e [it] ] a—24
DA K [BlfiRa-%
F5k B s [=F] — S 1502m
T4 =y v o ML 1213m
M EE R FE ZaE (3 50] o0 289m
AREB A — 3 No. SAJ30-GS-50/91
1AH 2 A H
a—Rt v H— BE —Y [l B ] a—Rt v H— hoP ) v Kkl
ISR - A - BAR H (3 50] ISR - A - B B (%550 ]
ISR - B - 78 (G (57 B ] ISR - B - 7e (G 5Z=N
ISR - C - Ak A (57 B ] iR - C - AR B A [l B ]
iR - D - iy (57 B ] iR - D - iy [l B ]
ISR - F - W R (57 B ] ISR - F - W R [l B ]
TP % 43 (40) 2K — R 9:30 A% 45 (42) A — R 12:30
KA L =E Hard PNIZ3 <H Y EEZy Medium
2B —K/T 4=y a R 2.2°C / 3.5C 2B —K/T 4=y a kiR 8.7°C / 10.2C
F=980
JIEAE Ap=] -h 1AH 2ARH & #H L—Xx
No No K4 B 4 BB 4 BE M FF R H%E B RA b
1 79 R F R ﬁﬁ%%ﬂz;ﬁs C 1:15.72 1:16.99 2:32.71 0.00
2 T4 ER)I B A — A —EH 1:20.71 1:22.58 2:43.29 67.90
3 73 S KKER = WL — > 7S C 1:24.17 1:23.09 2:47.26 93.37
4 69 ) % ZIRHEAS C 1:24.85 1:26.68 2:51.53 120.78
5 178 BRI CRE = <AVWEWRC 1:27.13 1:26.18 2:53.31 132.20
6 72 /IE OB =50 1:29.03 1:27.31 2:56.34 151.64
7T 76 BIEAS  GRIKRE A TAL . Z—T AR 1:27.95 1:28.74 2:56.69 153.89
8 71 ek OHEE N B =T A¥—RC 1:26.39 1:30.68 2:57.07 156.33
9 80 Hih 1EsE N — A —EH 1:30.28 1:31.16 3:01.44 184.37
10 77 L3 NI OB =N TRFLFITST 1:38.30 1:36.91 3:15.21 272.74
DID NOT START [1st RUN] 3
70 ERT FE o TERILFTT
75 K¥F B =R TRIALXTT
81 K EAT =R NERA=EIE Sl
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



Hi12E RWfF~ A Y — X - AR
TR A K —TRTFHE
ez B Ve o (L o7 PR HIT T

60555 7 PNEILR
NG SR
Do — T = HIT—H
Btz H B (e [it] ] a—24
K DA K [Bl#iRa-%
58 1T L (=] A2 — | HiLE 1502m
T4 =y v o ML 1213m
LR R FE ZaE (%550 ] o0 289m
REB A — =3 No. SAJ30-GS-50/91
1 AH 2 K H
a—Rt v H— BE —Y (57 B ] a—Rt v H— S 5Lz Kkl
AiEH - A - BAR H (%550 ] AiEH - A - B B (%550 ]
AiE# - B - 7 thE (57 B ] AiE# - B - 7e thE [l B ]
AiE#H - C - Ak A (57 B ] AiE#H - C - AR B A [l B ]
AiE# - D - iy (57 B ] AiE# - D - iy [l B ]
AiE# - B - W R (57 B ] AiE# - B - W R [l B ]
TP % 43 (40) 2K — R 9:30 % 45 (42) 2K — R 12:30
KA HAL =8 Hard KA <Hb =8 Medium
2B —K/T 4=y a R 2.2°C / 3.5C 2B —K/T 4=y a kiR 8.7°C / 10.2°C
F=980
JIEAE Ap=] -b B 1 AH 2KH & i ==
No No K4 B 4 B B 4 BE M FF R ﬁ B RA b
1 84 T HH| N k= X B R —E 1:14.85 1:17.80 2:32.65 0.00
2 88 M 5 7 B hE )| R —H e 1:16.97 1:20.40 2:37.37 30.30
3 83 Bt Zm2 gagsy AR—IT NS C 1:17.50 1:20.66 2:38.16 35.37
4 91 U FRE N BT AF— 1:19.65 1:20.53 2:40.18 48.34
5 86 BN EE e it 0—HARAX—T 5T 1:19.98 1:23.95 2:43.93 72.42
6 85 KE 15 gagsy TUTAX—V 57 1:23.70 1:26.99 2:50.69 115.82
792 HHsE &l gl THIL =T AX—RC 1:25.54 1:26.46 2:52.00 124.23
8 90 R RS R0 BHARRA X 1:26.68 1:27.34 2:54.02 137.19
9 82 AN A A BT A S — 1:33.77 1:36.44 3:10.21 241.13
DID NOT START [1st RUN] 2
87 mExE BAE N sk ﬁﬁ&ﬁx% 7
89 =HOEE =R FRUFAF-HIF 28
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



F12lm] HWfF~ AL — X« pEa— R
T IR AT — R TFHE
ez B Ve o (L o7 PR HIT T

55 {5 1 PNEILR
NG SR
S2) g T = HINT—F
iz H B [ [it] ] a—24
K DA K [Bl#iR1-%
58 1T L (=] A2 — | HiLE 1502m
T 4=y a s 1213m
M EER FE 2E (3 50] 5 7 289m
AREB A — 3 No. SAJ30-GS-50/91
1AH 2 A H
a—Rt v H— BE — (57 B ] a—Rt v H— S 5Lz Kkl
AIEH - A - AR H (3 50] AiEH - A - A H (%50 ]
AiE#H - B - 7e (G (57 B ] AiE# - B - 7e thE [l B ]
AiE#H - C - AR A (57 B ] AiE#H - C - AR A [l B ]
ISR - D - iy (57 B ] AiE#H - D - ]y [l B ]
AiE# - B - W (57 B ] AiE# - B - W R [l B ]
TP % 43 (40) 22— R 9:30 TR %K 45 (42) A K — REE 12:30
KA HAL =8 Hard PR <H =8 Medium
2B —K/T 4=y a kiR 2.2°C / 3.5C 2B — KT 4=y a kiR 8.7°C / 10.2°C
F=980
JIEAE Ap=] a-b EEEE 1AH 2AKH & #H L—X
No No K4 B 4 B B 4 B B O BF M R M OARA b
1 101 A s A J~ULTSC 1:12.35 1:15.69 2:28.04 0.00
2 105 BLE R0 TAy e =—T AW 1:13.42 1:15.82 2:29.24 7.94
3102 i B TR IVYANATSC 1:14.18 1:15.33 2:29.51 9.73
4 97 &+ & M7 . EIH A X —Wa 1:14.06 1:15.66 2:29.72 11.12
5 99 SIFE Zn8A gl EHKS C 1:15.50 1:17.19 2:32.69 30.78
6 106 WeE =R — A —EH 1:15.53 1:17.36 2:32.89 32.11
7 103 P NI S50 7 B Bl A — e 1:15.09 1:17.86 2:32.95 32.50
8 98 P EE gl TATY s =—T A 1:16.49 1:18.80 2:35.29 47.99
9 93 BELR  EA N B H H B A % —i 1:18.57 1:19.95 2:38.52 69.38
10 95 PR TEfl gl R V=AT7 FPAF 1:19.59 1:19.35 2:38.94 72.16
11 108 TN N =R B H H B A % —i 1:18.84 1:20.72 2:39.56 76.26
12 94 £ T N R V=T FAF 1:20.49 1:21.68 2:42.17 93.54
13 104 Fda  JEEE A JINFET A 2 — 1:22.54 1:25.19 2:47.73 130.34
14 100 BHE MR =R HHF A e 1:23.38 1:26.04 2:49.42 141.53
15 96 DO ECAS =R HEEI AT —7 1:30.44 1:34.00 3:04.44 240.96
16 107 e BHiR gl TRIAVLVFTT 1:31.76 1:36.16 3:07.92 264.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO

TIMING by SETKO



F12lm] RfF~ AL — X o — R
T AT — R TFHE
ez B Ve o (L o7 PR HIT T

501 5+ PNEILR
NG SR
Jal)— FOZHNT—H
Btttz H B [ [it] ] a—24
K DA K [Bl#iRa-%
58 1T L (=] A2 — | HiE 1502m
T4 =y v a R 1213m
M EER FE 2E (3 50] o 2 7 289m
AETHF— 3 No. SAJ30-GS-50/91
1AH 2 A H
a—Rt v H— BE — (57 B ] a—Rt v H— S 5Lz (5 f ]
AiEH - A - BR H (3 50] AiEH - A - A H (%50 ]
AiE#H - B - 7 thE (57 B ] AiE# - B - 7e thE (il B ]
AiE#H - C - AR B (57 B ] AiE#H - C - AR A [l B ]
ISR - D - R g (57 B ] ISR - D - SRpyi (57 B ]
AiE# - B - W R (57 B ] AiE# - B - W R [l B ]
TP % 43 (40) A & — KR 9:30 M % 45 (42) 2K — R 12:30
KA HAL =8 Hard PR <H0 =8 Medium
AF—bF/T 4=y a R 2.2°C / 3.5C AF—bF/T 4=y a R 8.7C / 10.2°C
F=980
JERE  Ah=h a-b EEEE 1AH 2KAH & #H L—Xx
No No K4 B 4 B B 4 B M OB R OB B ORAV b
1 114 Bl {38 gl ZZEE TAMA T 1:10.81 1:13.14 2:23.95 0.00
2 122 (hm s e it e FEES C 1:10.77 1:13.22 2:23.99 0.27
3 115 e E R0 LTS C 1:13.92 1:13.86 2:27.78 26.07
4 116 HH O HE— o KU A ZAR— 1:13.51 1:15.08 2:28.59 31.59
5 123 WL P M7 . HEIRH A X —We 1:15.78 1:17.92 2:33.70 66.38
6 113 AR B3 R0 NAES C 1:17.65 1:19.43 2:37.08 89.39
7 111 WEA HT A WA 2 —WHe 1:17.56 1:19.69 2:37.25 90.55
8 117 WARm f R0 AT T 1:18.24 1:19.65 2:37.89 94.90
9 127 Em B =R — AR —EH 1:19.19 1:18.94 2:38.13 96.54
10 112 BE 15 gl B WA AR () 1:18.06 1:20.38 2:38.44 98.65
11 118 PER HRR panlll 9% 2 T A ¥ —HE 1:19.46 1:19.61 2:39.07 102.94
12 124 FHH R = THF A=K SC 1:19.96 1:20.74 2:40.70 114.03
13 121 il E e it B A — e 1:20.28 1:20.75 2:41.03 116.28
14 125 AN = BT A S — 1:23.07 1:22.39 2:45.46 146.44
15 109 HILE Foz N B WA AR () 1:23.21 1:23.10 2:46.31 152.23
16 110 g —Hk R0 BERT A X —i 1:27.52 1:25.63 2:53.15 198.79
17 120 IR B = BERT A X —I 1:34.69 1:33.93 3:08.62 304.11
DID NOT START [1st RUN] 1
119 J\EH #H g fRIUH S C
DID NOT FINISH [1st RUN] 1
126 e FHE gl B2 —a
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



Hi12E RWfF~ A Y — X - AR
TR A K —TRTFHE
ez B Ve o (L o7 PR HIT T
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NG SR
Jal)— FO=ZHNT—H
iz H B (e [it] ] a—24
K DA K [Bl#iRa-%
58 1T L (=] A2 — | HiLE 1502m
T4 =y v a R 1213m
M EE R FE ZaE (3 50] o0 289m
AREB A — 3 No. SAJ30-GS-50/91
1AH 2 A H
a—Rt v H— BE —Y (57 B ] a—Rt v H— S 5Lz Kkl
AiEH - A - BAR H (3 50] AiEH - A - B B (%550 ]
AiE# - B - 78 (G (57 B ] AiE# - B - 7e thE [l B ]
AiE#H - C - Ak A (57 B ] AiE#H - C - AR B A [l B ]
iR - D - R gy (57 B ] iR - D - SRpi (57 B ]
AiE# - B - W R (57 B ] AiE# - B - W R [l B ]
TP % 43 (40) 2K — R 9:30 % 45 (42) 2K — R 12:30
KA HAL =8 Hard PR <H0 =8 Medium
AL =L/ T =TI 2.2°C / 3.5C AB—hL/T 4=y KR 8.7C / 10.2C
F=980
JERE  Ah=h -b B 1AH 2ARH & #H L—Xx
No No K4 B 4 B B 4 BE M FF R ﬁ B RA b
1 138 /N /N W MAX IMUMZARZF— 1:11.43 1:11.72 2:23.15 0.00
2 137 e g gl U7 S C 1:15.11 1:13.22 2:28.33 35.46
3 140 SR R0 DT AZF—2 57 1:16.17 1:16.06 2:32.23 62.16
4 132 7 3/ AR IVYANATSC 1:15.45 1:17.94 2:33.39 70.10
5 131 ot Eﬁ A N R N 1:16.68 1:17.43 2:34.11 75.03
6 134 B = M) Y=AT7 bAF 1:18.28 1:19.09 2:37.37 97.35
7 136 H’A FA gagsy AT T N AR 1:19.69 1:19.34 2:39.03 108.71
8 130 R A N — A —EH 1:21.36 1:21.79 2:43.15 136.92
9 141 ikt = T L A - — T 1:26.65 1:25.59 2:52.24 199.15
10 129 BA s N A) T T TRAF—T 1:27.71 1:29.71 2:57.42 23461
11 139 gy g R0 NRELZFTNGCY 1:40.83 1:36.54 3:17.37 371.19
DID NOT START [1st RUN] 1
128 | EA R0 BWA A X —
DID NOT FINISH [1st RUN] 2
133 A £ = B H H B A % —i
135 s %% B it e FEES C
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



Hi12E RWfF~ A Y — X - AR
TR A K —TRTFHE
ez B Ve o (L o7 PR HIT T

405548 5B+ PNEILH
NG SR
Tal— T =T —H
iz H B (e [it] ] a—24
DA K [BlfiRa-%
58 1T L (=] A2 — | HiLE 1502m
T4 = Hi R 1213m
MEEER FE ZaE [Z5H] 2 289m
AREBTHS— 3 No. SAJ30-GS-50/91
1AH 2 K H
=Ry H— BH — (57 5] =Ry H— MH sl Kkl
ISR - A - BAR H [Z5H] ISR - A - B B [Z5H]
ISR - B - 78 (G 2N ISR - B - 7e (G 5Z=N
ISR - C - Ak A (57 5] iR - C - AR B A 52=N
iR - D - R gy 2N iR - D - SRpi (57 5]
ISR - F - W B (57 5] ISR - F - W B 52=N
TR 43 (40) 2K — R 9:30 % 45 (42) 2K — R 12:30
KA H i =8 Hard PN <Hb =8 Medium
2B —K/T 4=y a kiR 2.2°C / 3.5C 2B —K/T 4=y a kiR 8.7°C / 10.2C
F=980
NEAT AF=h -h B 1AH 2AKH & #H L—2x
No No K4 B 4 B B 4 Be M FF R ﬁ A
1 143 i Tkt A BT A S — 1:18.15 1:17.42 2:35.57 0.00
2 144 2 A oyt A AF—F— A 1:17.23 1:19.06 2:36.29 4.54
3 142 PE o BIE N — A —HEH 1:18.17 1:18.81 2:36.98 8.88
4 145 M #ER N = 7SC 1:15.32 1:23.81 2:39.13 22.43
5 147 PR EBH = AT IYAF=T 73— 1:33.47 1:31.96 3:05.43 188.10
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 1
146 AE EHE R0 BWA A X —
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



F12lE] Wi~ A X — X« FHEA—R

T IR AT — R TFHE

M7 B DR v 1L v PR 1 BT T

35t 5+ PNEILH
NG SR
Tal— T =T —H
iz H B (e [it] ] a—24
DA K [BlfiRa-%
F5k B s [=F] — S 1502m
T 4= a s 1213m
MEEER FE ZaE [Z5H] 2 289m
AREBTHS— 3 No. SAJ30-GS-50/91
1AH 2K H
aA— ATy H— BH — (57 5] aA— ATy H— MH sl (55 ]
ISR - A - AR H [ZH] ISR - A - AR H [ 5]
ISR - B - 78 (G 2N ISR - B - 72 (h#E& 52=N
ISR - C - AR A 2N iR - C - 4ﬁ‘@ﬁ‘ 5Z=N
iR - D - R gy 2N ISR - D - R gy (57 5]
ISR - F - WL B (57 5] ISR - F - WL B 52=N
TR 43(40) A — 9:30 TR %K 45 (42) 22— R 12:30
KA i EH Hard KAge <HY = Medium
2B —K/T 4=y a kiR 2.2°C / 3.5C 2B —K/T 4=y a kiR 8.7°C / 10.2C
F=980
NERE Ag=h -h B 1AH 2KAH & #H L—Xx
No No K4 B 4 BB 4 Be M FF R ﬁ B wA b
1 149 Kk RER e it B A — e 1:14.00 1:15.97 2:29.97 0.00
2 150 AR BT N B H H B A % —i 1:15.07 1:17.15 2:32.22 14.70
3 148 RFE fdtil = B AR A X —E 1:22.47 1:25.29 2:47.76 116.25
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



Hi12E RWfF~ A Y — X - AR
TR A K —TRTFHE
ez B Ve o (L o7 PR HIT T

25X 5+ PNEILH
NG SR
Tal— T =T —H
iz H B (e [it] ] a—24
DA K [BlfiRa-%
58 1T L (=] A2 — | HiLE 1502m
T 4= a s 1213m
MEEER FE ZaE [Z5H] 2 289m
AREBTHS— 3 No. SAJ30-GS-50/91
1AH 2K H
aA— ATy H— BH — (57 5] aA— ATy H— MH sl (55 ]
ISR - A - AR H [ZH] ISR - A - AR H [ 5]
ISR - B - 78 (G 2N ISR - B - 72 (h#E& 52=N
ISR - C - Ak A 2N iR - C - Ak A 5Z=N
iR - D - R gy 2N ISR - D - R gy (57 5]
ISR - F - W RS (57 5] ISR - F - W B 52=N
TR 43 (40) A A — |RERE 9:30 % 45 (42) A A — |IRERE 12:30
KA i =8 Hard KAge <HY =8 Medium
AF—bF/T 4=y a R 2.2°C / 3.5C AF—bF/T 4=y a R 8.7C / 10.2C
F=980
NERE Ag=h -h B 1AH 2KAH & #H L—Xx
No No K4 B4 Fr B 4 B[ | IS T N NN
DID NOT START [1st RUN] 1
151 wmH o EOr i (11 BWA A X —
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO TIMING by SETKO



F12lE] Wi~ A X — X« FHEA—R

T IR AT — R TFHE

M7 B DR v 1L v PR 1 BT T

2051 55+ PNEILH
NG SR
Tal— T =T —H
iz H B (e [it] ] a—24
DA K [BlfiRa-%
F5k B s [=F] — S 1502m
T4 = Hi R 1213m
MEEER FE ZaE [Z5H] 2 289m
AREBTHS— 3 No. SAJ30-GS-50/91
1AH 2K H
A=Ay H— BH — (57 5] =Ry H— MH sl (55 ]
ISR - A - AR H [ZH] ISR - A - AR H [ 5]
ISR - B - 78 (G 2N ISR - B - 72 (h#E& 52=N
ISR - C - AR A 2N iR - C - 4ﬁ‘@ﬁ‘ 5Z=N
iR - D - R gy 2N ISR - D - R gy (57 5]
ISR - F - WL B (57 5] ISR - F - WL B 52=N
TR 43(40) 2K — R 9:30 TR %K 45 (42) 22— R 12:30
KA i EH Hard KAge <HY = Medium
2B —K/T 4=y a kiR 2.2°C / 3.5C 2B —K/T 4=y a kiR 8.7°C / 10.2C
F=980
NEAT AF=h -h B 1AH 2KAH & #H L—Xx
No No K4 B4 Fr B 4 B[ | IS T N NN
1 152 ViR Ui =R R =TT PAX 1:36.11 1:28.88 3:04.99 0.00
DID NOT START [1st RUN] 0
DID NOT FINISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH [2nd RUN] 1
153 A BB R0 NAIES C
DISQUALIFIED [2nd RUN] 0
2018-03-18 / IZFBD X P A X —; G8/ 1

DATA PROCESSING by SE I KO
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